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B.Com. 3rd Semester (Honours) Examination, 2022 (CBCS)

Subject : Financial Accounting II
(New Syllabus) 187
Course : CC-VII (3.3 CH)

Time: 3 Hours Full Marks: 60
The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten of the following questions: 2x10=20
A @ @I i 2 Tea we
(a) What is Inter Departmental Transaction?

SSINT = e

(b) Mention two points of differences between Branch and Departmental Accounts.
M g el e S qfb siefe S

(¢c) How is normal loss of stock treated in Branch Account?
WS A FelRE e Freica A B o =3

(d) What is Sub-royality?
ToiFy S 2

(e) What is Underwriting of Shares?
AR STQETI B2

(f) What do you mean by ‘Branch Adjustment Account’?
il fErege 29417 <@ice T At e

(g) What do you mean by ‘Realisation Account’?
TR 2R 96 e BRI

(h) How is Hire-Purchase different from ordinary purchase?
G- HLR FEA (D ISR AW 2

(i) Mention two advantages of preparing departmental accounts.
e o age waw 96 JRa S FE

() What do you mean by parital re-possession?
e AeeE w0 B IR 2

(k) What is *‘Dead Rent’?
‘& e’ Fie

(I) State the purpose of preparing ‘Branch Adjustment Account’.
2| feread fora’ tefar Sy fage @

(m) What do you understand by ‘Dependent Branch’?
Freania =y s F A
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How would you treat Cash-in-transit in Branch Accounting?

w4 RREE cfaede Ao o Iel FEIRge e

What is meant by ‘Short Workings’?

%% et e F @RI
5%4=20

2. Answer any four of the following questions:
Fsfife el (@ @ @ 57 deiw Ted e ¢

(a)

(b)

(©

What do you understand by departfnental accounts? How would you allocate expenses for
Electricity, Insurance premium and Staff welfare expenses between different departments of

a departmental organization?
et fEomfien wire B @Rl Seir ot uaf Reifn afodim Rye <o, T fafms
@32 G Ferid 97 [(ifen e S 3% 3932

What do you mean by ‘Surplus Capital Basis” and ‘Maximum Possible Loss Basis’ as used
in piecemeal distribution in connection with the dissolution of partnership firms?

AT efSvita Reneriara sifirafecs, @ smm o= 3% Tge T 2% a3 Tifes
Y HO &S TEe @ ?

The directors of a large departmental store wishes to ascertain approximately, the net profits
of the A, B & C departments separately for the quarter ended March 31, 2021. It was found
impracticable actually to take stock on that date, but an adequate system of departmental
accounting is in use, and the normal rates of gross profit for the three departments concerned
are 40%, 30% and 20% respectively on turnover before charging the direct expenses. Indirect
expenses are charged in proportion to departmental turnover.

Following are the figures for the departments:

A B c

3 - 4 4
Stock on 01.01.2021 . 60,000 70,000 30,000
Purchases for the period 70,000 65,000 47,000
Sales for the period 1,20,000 1,00,000 60,000
Direct Expenses for the period 20,200 14,500 7,100

The total indirect expenses for the period ( including those relating to other departments) were
T 42,000 on the total turnover ¥ 8,40,000.

Prepare a statement showing gross profit, net profit after making a stock reserve of 10% for
each department on the estimated value on 31st March, 2021

(2erafe om woay)



W@ Mr X purchased a mach
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we on 01,01 2019 from Machine Trading Company on hire purchase
SYSRem, payment was to he made

amounting T 40,000 on the date of signing of agreement
lh\‘ Ih(‘ Nliﬂk‘&\

W three equal annual installments of T 30,000 each commencing from
JL12.2019 The annual payment included the interest chargeable at 4%. The present value
of X1 per annum for 3 years at 4% w ¥ 27751, Determune the cash price of the machine
ad show the Machine Trading Company Account in the books of Mr. X.

R W w8
P Lid decided to buy-hack 20,000 of its aquity shares of T 10 each at a premium of 20%.
For this, 1t issues 1,300, 6% Preference Shares of T 100 each at par. The company has
T 35,000 in General Reserve. T 40,000 in Profit & Loss A/c (Cr.), ¥ 25.000 in Capital Reserve
and T 32,500 in Securities Premium Account. It decides to utihize profits and reserves also.
Pass Joumal entries giving effect to the above in the books of P, Lid.

QfE o 2 )
Ram Das has patented a new type of smart watch. On 1st January, 2018 he granted Mohan
Patra a licence for 20 years to manufacture and sell the watch on the following terms:

() Mohan Patra has to pay a rovalty of T 3 for each watch manufactured and a further rovalty

of T 3 for each watch sold with a minimum rent of T 8,000 p.a.

) If in any year, the royaltes caleulated on watch manufactured and sold be less than the
minimum rent. Mohan Para has the right to recoup short workings out of the royalties in
excess of the mimmum rent durning the two years immediately tollowing, subject to a

maximum amount of T 2000 p.a.

The number of watch manufactured and sold for the first years were as follows:

Year Manufacrured Sold
2018 ALY S00
2019 1.000 700
2020 2,300 1.500
2021 500 2,000

Prepare a statement showing Royalty Payable by the Mohan Parra,
(" = w8Q)
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3. Answer any two of the following questions:
Asa emafera @ @A 77 A4 TS WIS 3

s and losses in th

10x2=20

e ratio of 3:2:1. They decided

(a) P, Q and R were in partnership sharing profit
P : ot 22 and the Balance Sheet as on that date stood

to dissolve their partnership on March 31, 20

as follows:
Balance Sheet as on March 31, 2022
Liabilities Amount| Amout | Assets Amount | Amount
3 2 4 3
Capital Accounts Premises 84,000
e 1,40,000 Plant 48,000
Q 40,000 Fixtures 16,000
R 20,000 Stock 52,000
2,00,000| Debtors 80,000
Current Account Less. Provision for Bad Debts | 10,000
P 6,000 70,000
Q 4,000 Cash at Bank 25,500
10,000 Current Account:
Creditors 1,13,000 |, R 27,500
3,23,000 3,23,000

The assets were sold and realised the following amounts:

Debtors Z 60,000, Stock ¥ 28,000, Fixtures T 10,000, Plant ¥ 28,000 and Premises ¥ 90,000.
Creditors were discharged in full and an amount of ¥ 8,000 was paid as dissolution expenses.
R became insolvent and unable to pay anything. There is no provision in the partnership

agreement to meet this situation.

Show Realisation Account, Partners Capital Account and Bank Account in the books of the

firm.

(e 2% g93)

(b) M/s Bhaskar Traders sells goods on hire purchase system for which goods are sent to the

customers at cost plus 50%. The following information are available:

Stock at shop on 01.01.2021

Stock out with customers at hire purchase price on 01.01.2021
Installment due on 01.01.2021

Cash received from customers

Goods purchased during the year 2021

Goods repossessed (installment due ¥ 20,000) at an agreed value

Installment due on 31.12.2021
Stock at shop on 31.12.2021 (including repossessed goods)

Account from the above to determine profit on hire purchase

CGafa o wga)

4

1,80,000
90,000
50,000

6,00,000

6,00,000

5,000
90,000
2,05,000

Prepare Shop Stock Account, H.P. Stock Account, H.P. Debtors Account and H.P. Adjustment

business.
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ai has g branch at Kolkat
and all the colle

ctions of the
the expenses of the branch.

o L ; ks
a. The branch does not maintain accounting boo

: - i 1 rses
branch are remitted to head office. The head office reimbu

Goods are invoiced to the

; branch at selling price which is cost plus 25% and the branch is
not entitled to vary this p

rice,

From the following information prepare Branch Account in the books of the head office:

Opening Closing
7 4

Balances at Branch:

Stock 50.000 ?

Debtors 32,000 ?

Cash 4,000 4,000
Transactions during the year: 4

Goods sent to branch 4,00,000

Goods returned to head office 20,000

Credit sales at branch 3,20,000

Cash sales at branch 80.000

Cash received from customers at branch 2,80,000

Bills receivable accepted by the customers at branch 20,000

Cash sent to branch for expenses 48.000

Shortage in stock at branch 5,000

Discount allowed to branch customers 3,200

fe o w9ay)

(d) X Ltd. offered 20,000 Equity shares of ¥ 10 each at a premium of ¥ 5 per share payable

as follows: ’
On Application T 3 per share
On Allotment T 6 per share (including premium)
On First Call < 3 per share
On Final Call T 3 per share

Applications were received for 36,000 shares and allotment was
shares at the rate of two shares for every three ap
the allotment money as well as the first call mo
shares were immediately forfeited. Another sh
call money in respect of 240 shares

made to applicants of 30,000
plied for. One shareholder, P failed to pay

ney for 80 shares allotted to him and these
areholder, Q failed to pay the First and Final
and these shares were forfeited after the Final call.

300 of the forfeited shares (including all the shares issued to P

) were later re-issued as fully
paid on payment of ¥ 9 per share.

Show the Journal entries required to record the above transactions.

(23f& o weay)
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B.Com. 3rd Semester (Honours) Examination, 2022 (CBCS)

Subject : Financial Accounting I

(O1d Syllabus)

Course : CC-VII (3.3 CH)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any fen questions from the following: 2x10=20

& T G ATER TS WIS 3
{a) What is re-possession of goods?
AN AN I 0 2
(b) Define financial lease.
wifdfe Terare AEE W |
(¢) What is sub-lease?
Torrg oIl 2
(d) Why minimum rent is charged?
PJEN A @ 4 FA W2
(e) Define Banking Company.
s @reiifag Acet wie |

(f) What do you mean by right of recoupment of shortworking?

e QT TG WEPE S P (A

When possession and ownership are transferred in case of Hire-Purchase agreement?

2B SIT-FH pieCe wee G2 MR P TG T2

(2)

(h) Write any two advantages of Departmental Accounts.

el orrearts @ie 1 R @l
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(1) What do you meay by dependent branch?
e ey zers &

Q) How Branch Closi A3
ch Closing Stock is treated when goods are sent at invoice price?

AR o LI R S S W——
(k) Define gaining ratio with example.

CRIZATZRIS Ce1efisirea e e |

() Mention key legal provision of a minor partner.

ATEN TR WA T GRS Ty e w0

(m) In which occassions revaluation accounts are required in a partnership firm?

(1N W C¥0E WM winfa senfemee B ararew 7m
(n) What is non-performing asset?
THLATE FW B ATH 7
(0) Define Royalty.

TP A& wig |

2. Answer any four questions from the following: 5x4=20

T I BIATG AR T we ¢
(a) Distinguish between Departmental Accounts and Branch Accounts.
frerfin frRead w3 =nei-fEearR Wy e e
(b) Explain the circumstances for the dissolution of a partnership firm.
9=t weamifa efedrma e «fafzfemz amn ==
(c) Explain the methods of valuation of Goodwill.
FAGR TAER Aafosf < )

(d) On 1st January, 2018 Samanta & Co. purchased a printing machine from M/s Digital Printers
on hire-purchase system. At the time of agreement a sum of ¥ 24,000 was paid out of the
cash down price of the machine and the balance was payable in 3 equal annual installments
together with interest @ 5% p.a. The amount of last installment including interest was

Z 33.600. Ascertain the interest and cash price of the machine.

(3l o w8d))
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(e) Coalfields Ltd. took a mine on lease from West Bengal Mines Ltd., the landlord, at a given

f royalty with a minimum rent of T 60,000 per year. Each ye

t of the royalties of next two yedars. In the event of a

ars excess of minimum

rate o
rent over royalties is recoverable ou
strike and the minimum rent not being reached, it was provided that the actual royalties earned

would be the full royalty obligations for the year. The actual royalties were as

for the year

follows:
First year : Nil
2nd year : < 18,000
3rd year : < 45,000
4th year J < 70,000
5th year : < 80,000

Draw up the Shortworkings Account and the amount of royalties payable.

(3eafer 2 wB4y)

(f) ABC Co. has two departments P and Q. Departments P sell goods to Department Q at normal
selling price. From the following particulars prepare a Departmental Trading and

Profit & Loss Account for the year ended 31.03.2021:

Particulars Dept. P Dept. Q
T 4
Opening Stock : 1,00,000 Nil
Purchase 23,00,000 2,00,000
Goods from Department P — 7,00,000
Wages 1,00,000 1,60,000
Travelling Expenses 10,000 1,40,000
Closing stock at cost to the Dept. 5.,00,000 1,80,000
Sales 23,00,000 15,00,000
Printing and Stationary 20,000 16,000




(9) CH-II1/B.Com./CC-VII/(N&Q)/22

(1) Salaries: T 2.70,000 (2:1)

(2) Advertisement Expenses: ¥ 90,000 (Turnover Ratio)

(3) General Expenses: ¥ 80,000 (3:1)
(4) Depreciation @ 25% on Machinery of ¥ 48,000 (1:3)

R o wgay)
3. Answer any two questions from the following :

@ (PIE I 2ea Tea wie

10x2=20

(a) What is meant by Hire Purchase system? How does Hire Purchase system differ from the

Instalment Payment system?

@T@mﬂﬁﬁsmﬁtm?@m—mmeﬁﬁaﬁ%ﬁammﬁa?

(b) What is prudential norms? Discuss the differences between Balance Sheet of Banking and

non-Banking companies.

FreEme M I6re J @R ? FiFR 932 5= ¢ AT it e st SEal
I |

(c) Shyam Ltd. of Kolkata has a branch at Burdwan, where goods are invoiced at cost plus 25%.
The branch makes sales both by cash and credit. Branch expenses are paid direct from
Head Office and the branch has to remit all cash received into the Head Office bank account

at kolkata.

From the following details, relating to the year 2021-22, prepare the accounts in Head Offjce

ledger and ascertain branch’s profit as per stock and debtors system.
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(10)
[ PO R

(d) On 31st Marc
in proportion to their capitals, stood as follows:

Particulars

Stock at Burdwan branch on 01.04.21 at invoice price.
Goods Received from H.O. at invoice price

Return to H.O. at Invoice price
Cash

Credit

Sales during the year:

Debtors at Burdwan branch as at 01.04.21
Cash received from Debtors

Discount allowed to Debtors

Bad Debts during the year

Sales Returns at Burdwan branch
Salaries and wages at branch

Rent, Rates & Taxes at branch

Office expenses at Burdwan branch

Stock at Branch on 31-03-2022 at invoice price

Amount
4
24,000
2,40,000
4,800
80,000
1,44,000
28,800
1,28,000
2,400
1,600
3,200
24,000
7,200
2,400
48,000

(Ffe o 98r)

Balance Sheet as on March 31.03.2022

Liabilities Amount Assets Amount
4 R

Capital Accounts Land & Building 4,00,000

Amal:  4,00,000 Machinery 6,00,000

Bimal:  6,00,000 Closing Stock 2,00,000

Charan: 4,00,000 Sundry Debtors 2,00,000
14,00,000

Sundry Creditors 2,00,000 Cash & Bank Balance 2,00,000
16,00,000 16,00,000

h, 2022, the Balance Sheet of M/s. ABC Partners, sharing profits and losses
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On3lst M 2022 . :
arch, 2022 Ama) desired 1o retire from the firm and the remaining partners decided
to earry on, : :
0. It was agreed o fevalue the assets and liabilities on that date on the following
basis

(1) Land & Building be appreciated by

30%.
(11) Machinery be depreciated by 20%.

(111) Closing Stock 1o be valued at Rs. 1.50.000.
(iv) Provision for bad debts be made at 5%.

(v) Joint life policy of partners surrendered and cash obtained Rs. 2,00,000.

(V1) Goodwill of the entire firm be valued at Rs. 2,80,000 and Amal's share of goodwill

be adjusted in the accounts of Bimal and Charan. New profit sharing ratio is 1:1. No
Goodwill account being raised.

(vii) The total capital of the firm is to be the same as before retirement. Individual capitals
be in their profit sharing ratio.

(viii) Amount due to Amal is to be settled 50% on retirement and balance 50% within 1 year.
Prepare necessary accounts of the partnership firm on 01.04.2022

& 2w w81)




